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E A (B FERASEE E3=r FERASEE C3=r FERISTE
B% (1 59KW) Kw/h 236,157 5,127 290,795 6,193 274,897 10,274
k& m 2,734 1,066 3,168 1,201 3,216 1,207
k& m 2,734 498 3,168 593 3,216 601
#HHAHAX m 46,710 4,073 56,053 5,371 51,193 7,122
JO)N>HR m 0 24 0 25 0 24
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e A (B FERASEE E3=r FERASEE C3=r FERISTE
B% (1 59KW) Kw/h 201,237 3,899,839 251,318 4,846,787 244,683 7,915,786
k& m 2,550 938,968 2,991 1,033,568 2,981 1,030,488
k& m 2,550 476,190 2,991 570,790 2,981 567,138
#HHAHAX m 46,710 4,072,579 56,053 5,370,975 51,193 7,121,805
JO)N>HR m 0 0 0 0 0 0
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E A (B FERASEE E3=r FERASEE C3=r FERISTE
EB& (1 59KW) Kw/h 9,964 255,246 10,377 287,143 10,359 373,330
k& m 62 29,722 44 35,332 119 61,530
k& m 62 9,922 44 9,724 119 14,076
#HHAHAX m 0 0 0 0 0 0
JO)N>HR m 0 24,332 0 24,937 0 24,428
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e A (B FERASEE E3=r FERASEE C3=r FERISTE
EB& (1 59KW) Kw/h 24,956 971,695 29,100 1,059,323 19,855 1,984,973
k& m 122 97,294 133 131,925 116 115,120
k& m 122 11,869 133 11,990 116 19,448
#HHAHAX m 0 0 0 0 0 0
JO)N>HR m 0 0 0 0 0 0
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